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Which decimal is equal to E?

_____________________________________________________

0.6

0.646
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positive exponent.
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Write the expression 7-1* using a
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X=-14
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x=7.5
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X=2
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Amira has saved AED 925 to buy
a 3D printer and attend lessons. If
the 3D printer costs AED 550, and
the lessons are AED 75 per hour.
Determine the equation that
represents how many hours

of lessons m she can afford.

Markis) 44
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MGy (AED 550 4550 dlal 44
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........................................................................................

75m + 550 = 925
75m — 550 = 925
b
75m + 925 = 550
Al ddde 75m — 925 = 550
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Solve 6(5 — 3m) + 20 = 2(5 + m).
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..............................................................................................

m=2

m=-=2
b

m=1
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6(5-3m)+20=2(5+m)
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the constant rate of change?

Weeks | Savings
(AED)

2 70
3 90
| 4 110 .
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Nahla purchased 3 pounds of cheese
for AED 21.

The cost of cheese varies directly with
the number of pounds purchased.
Write a direct variation equation to

represent this relationship.
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A charter bus travels 210 miles in
3.5 hours. Assume the
distance traveled is directly

proportional to the lime spent.
Wrile a direct variation equation

0 160 <y
0 y =60z

0 - -60y
(o) yeo0x=0
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y=—2x+ 2

y=-3x+3
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Write an equation in point—slope
form for the line that passes

through (3,13) and (0, 1).

<
Learning Qutcomes Covered

o MAT.5.01.02.011

_______________________________________________________________________________________________

_______________________________________________________________________________________________

y+ 13 =4+ 3)
b.

13 = : 3
P35
1
y+13=Z(x+3)

d.

Mark(s): 5/5
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Equation in Point-slope ghially Juall spiiuis dliles

Write an equation in point-slope

form for the line that passes

through (3, 2) with a slope of 5.

y=2=5(x+13)
y+2=5(x+3)
y=-2=5(x-3)
y+2=35(x-13)
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Write the equation of a line in

slope-intercept form with a slope
1
of — E and a y—intercept of 3.
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y=-3x+=
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Determine the domain of the relation AL Jlaal) a2
{(=5,3),(4,1),(2,5),(=3,4)} {(—5,3),(4,1),(2,5),(-3,4
4 >
Learning Outcomes Covered
o MAT.5.01.02.013
{ (~5,4,2,-3) o
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(3,1,5,4)
(-5,3,4,1)
(2,5,-3,4)
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{—1,—2,~3)
=18
{1,-3.2)}
{(—2.3,—1)
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f(x) = 8x + 16 S0 1 12) ay
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L f(—12) = —44
f(—12) = 76

f(—12) =9

. &S‘ uﬁ‘.ﬁ_i f(—12) = 33
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Find f(—5) if f(x) = 2x + 45. F(x) = 2x + 45 o 13) f(=5) 2yl
{ >
Learming Outcomes Covered
f(=5) = 35 v
f(—5) =55
b.

f(-5) = -10
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1. 3.16 X 103 = 2. 1.1 X 104 = 3. 2.52 X 10-° =
ekt e b as S S
4. 43,000 - 5. 0.0072 = 6. 0.0000901 =

A il |
AENAY ¢ A0UY) ARlal) il A ) A ya




3 pually Bl SlasH) ALST  alall ol gl 1to11 55
16

ol A0l &S il iy Wl 1to8 62

(gl e ) plaSiul WL (e e . et S Zead dorg]

4. (89 x 10%) + (4.2 x 10%) =
5. (964 x 108) — (529 x 10%) =
6. (135 x 109 - (117,000) =

7. 5400 + (6.8 X 10°) =
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